

GORENSTEIN CATEGORIES $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ AND DIMENSIONS

XIAOYAN YANG

ABSTRACT. Let \mathcal{A} be an abelian category and $\mathcal{X}, \mathcal{Y}, \mathcal{Z}$ additive full subcategories of \mathcal{A} . We introduce and study the Gorenstein category $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ as a common generalization of some known modules such as Gorenstein projective (injective) modules [5], strongly Gorenstein flat modules [3] and Gorenstein FP-injective modules [4], and prove the stability of $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$. We also establish Gorenstein homological dimensions in terms of the category $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$.

1. Introduction and preliminaries. Let \mathcal{A} be an abelian category and \mathcal{C} an additive full subcategory of \mathcal{A} . Sather-Wagstaff, Sharif and White [10] introduced the Gorenstein category $\mathcal{G}(\mathcal{C})$ which is defined as

(1.1)

$\mathcal{G}(\mathcal{C}) = \{A \text{ is an object of } \mathcal{A} \mid \text{there is an exact sequence of objects}$

$$\text{in } \mathcal{C} \cdots \longrightarrow C_1 \longrightarrow C_0 \longrightarrow C^0 \longrightarrow C^1 \longrightarrow \cdots$$

which is both $\text{Hom}_{\mathcal{A}}(\mathcal{C}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{C})$ -exact,

such that $A \cong \text{Im}(C_0 \rightarrow C^0)\}$.

This definition unifies the following notions: modules of Gorenstein dimension zero [1], Gorenstein projective (injective) modules [5], V -Gorenstein projective (injective) modules [6], and so on. It is well known that Gorenstein projective (injective) modules have nice properties when the ring in question is n -Gorenstein (a ring R is called n -Gorenstein if R is a left and right Noetherian ring with self-injective dimension at most n for an integer $n \geq 0$ on either side). Also there

2010 AMS *Mathematics subject classification.* Primary 18G20, 18G25.

Keywords and phrases. resolution and coresolution, Gorenstein category.

This research was partially supported by the National Natural Science Foundation of China (Nos. 11361051, 11361052) and the Program for New Century Excellent Talents in University of China (No. NCET-13-0957).

Received by the editors on March 4, 2013, and in revised form on February 13, 2014.

are many results of a homological nature which may be generalized from Noetherian to coherent rings. To this end, Ding, Li and Mao [3] introduced and studied the strongly Gorenstein flat R -modules as the modules of the form $\text{Im } \delta_0$ for some exact sequence of projective R -modules

$$P : \dots \longrightarrow P_1 \xrightarrow{\delta_1} P_0 \xrightarrow{\delta_0} P^0 \xrightarrow{\delta^0} P^1 \xrightarrow{\delta^1} \dots$$

such that the complex $\text{Hom}_R(P, Q)$ is exact for each flat R -module Q . Bennis and Ouarghi [2] proved that some results in [3] remain true in the above definition whenever Q is considered to be in any class of modules containing all projective modules.

In this paper, we investigate the objects that arise from an iteration of this construction. Let \mathcal{A} be an abelian category and $\mathcal{X}, \mathcal{Y}, \mathcal{Z}$ additive full subcategories of \mathcal{A} . We introduce the Gorenstein subcategory $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ of \mathcal{A} , which unifies the following notions: strongly Gorenstein flat modules [3], Gorenstein FP-injective modules [4], \mathcal{X} -Gorenstein projective modules [2], \mathcal{Y} -Gorenstein injective modules [9] and the Gorenstein category $\mathcal{G}(\mathcal{C})$ [10]. We give some general characterizations of the Gorenstein subcategory $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ and prove the stability of $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$. We also establish Gorenstein homological dimensions in terms of the Gorenstein subcategory $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$.

Let \mathcal{A} be an abelian category and \mathcal{C} a full subcategory of \mathcal{A} . An exact sequence in \mathcal{A} is called $\text{Hom}_{\mathcal{A}}(\mathcal{C}, -)$ -exact if it remains still exact after applying the functor $\text{Hom}_{\mathcal{A}}(\mathcal{C}, -)$. Let M be an object of \mathcal{A} . An exact sequence $\dots \rightarrow C_1 \rightarrow C_0 \rightarrow M \rightarrow 0$ in \mathcal{A} with all C_i in \mathcal{C} is called a *proper \mathcal{C} -resolution* of M if it is $\text{Hom}_{\mathcal{A}}(\mathcal{C}, -)$ -exact. Dually, the notions of a $\text{Hom}_{\mathcal{A}}(-, \mathcal{C})$ -exact sequence and a coproper \mathcal{C} -coresolution of M are defined.

For M , \mathcal{X} -pd(M) is defined as $\inf\{n \geq 0 \mid \text{there is an exact sequence } 0 \rightarrow C_n \rightarrow \dots \rightarrow C_0 \rightarrow M \rightarrow 0 \text{ in } \mathcal{A} \text{ with all } C_i \text{ in } \mathcal{C}\}$, and set \mathcal{X} -pd(M) infinity if no such integer exists. We also define \mathcal{Y} -id(M) dually, and set

- res $\widehat{\mathcal{X}}$ = the subcategory of objects M of \mathcal{A} with \mathcal{X} -pd(M) $< \infty$,
- cores $\widehat{\mathcal{Y}}$ = the subcategory of objects N of \mathcal{A} with \mathcal{Y} -id(N) $< \infty$.

Let \mathcal{X}, \mathcal{Y} be two additive full subcategories of \mathcal{A} . Write $\mathcal{X} \perp \mathcal{Y}$ if

$\text{Ext}_{\mathcal{A}}^{\geq 1}(X, Y) = 0$ for each object $X \in \mathcal{X}$ and each object $Y \in \mathcal{Y}$. We denote

$$\begin{aligned} \mathcal{X}^\perp &= \{A \in \mathcal{A} \mid \text{Ext}_{\mathcal{A}}^1(X, A) = 0, \text{ for all } X \in \mathcal{X}\}, \\ {}^\perp\mathcal{Y} &= \{B \in \mathcal{A} \mid \text{Ext}_{\mathcal{A}}^1(B, Y) = 0, \text{ for all } Y \in \mathcal{Y}\}. \end{aligned}$$

Given a class \mathcal{F} of objects in \mathcal{A} and an object $X \in \mathcal{A}$, a morphism $\varphi : F \rightarrow X$ with $F \in \mathcal{F}$ is called an \mathcal{F} -precover of X if $\text{Hom}_{\mathcal{A}}(F', F) \rightarrow \text{Hom}_{\mathcal{A}}(F', X) \rightarrow 0$ is exact for all $F' \in \mathcal{F}$. If, moreover, any f such that $\varphi f = \varphi$ is an automorphism of F , we say that $\varphi : F \rightarrow X$ is an \mathcal{F} -cover. \mathcal{F} -preenvelopes and \mathcal{F} -envelopes are defined dually.

2. Gorenstein subcategory $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ of \mathcal{A} . Let \mathcal{A} be an abelian category and $\mathcal{X}, \mathcal{Y}, \mathcal{Z}$ additive full subcategories of \mathcal{A} . In this section, we introduce and study the Gorenstein subcategory $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ of \mathcal{A} and prove the stability of the subcategory $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$.

Definition 2.1. The Gorenstein subcategory $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ of \mathcal{A} is defined as

$$\begin{aligned} \mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z}) &= \{A \text{ is an object of } \mathcal{A} \mid \text{there is an exact} \\ &\text{sequence of objects in } \mathcal{X} \cdots \longrightarrow X_1 \longrightarrow X_0 \longrightarrow X^0 \longrightarrow X^1 \longrightarrow \cdots, \\ &\text{which is both } \text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)\text{-exact and} \\ &\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})\text{-exact, such that } A \cong \text{Im}(X_0 \rightarrow X^0)\}. \end{aligned}$$

Remark 2.2.

(1) It is clear that each object in \mathcal{X} is in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$. If

$$X : \cdots \longrightarrow X_1 \longrightarrow X_0 \longrightarrow X^0 \longrightarrow X^1 \longrightarrow \cdots$$

is a $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ exact sequence of objects in \mathcal{X} , then by symmetry, all the images, the kernels and the cokernels of X are in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$.

(2) If $\mathcal{X} = \mathcal{Y} = \mathcal{Z} = \mathcal{C}$, then the subcategory $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ is exactly the Gorenstein category $\mathcal{G}(\mathcal{C})$ in [8, 10].

- (3) If \mathcal{A} is the category of R -modules and $\mathcal{X} = \mathcal{Y}$ is the class of projective R -modules, then the subcategory $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ is exactly the class of \mathcal{Z} -Gorenstein projective modules in [2]. In particular, if \mathcal{Z} is the class of flat R -modules, then the subcategory $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ is exactly the class of strongly Gorenstein flat modules in [3].
- (4) If \mathcal{A} is the category of R -modules and $\mathcal{X} = \mathcal{Z}$ is the class of injective R -modules, then the subcategory $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ is exactly the class of \mathcal{Y} -Gorenstein injective modules in [9]. In particular, if \mathcal{Y} is the class of FP-injective R -modules, then the subcategory $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ is exactly the class of Gorenstein FP-injective modules in [4].

In what follows, we always assume that $\mathcal{X} \subseteq \mathcal{Y}$ and $\mathcal{X} \subseteq \mathcal{Z}$. The following result investigates the behavior of the object in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ in short exact sequences.

Theorem 2.3. *Given a both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequence*

$$(2.1) \quad 0 \longrightarrow A \longrightarrow B \longrightarrow C \longrightarrow 0$$

in \mathcal{A} . If any two of A, B and C are in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$, then so is the third.

Proof. Assume that A, C are in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$. Then there exist both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequences of objects in \mathcal{X} :

$$\begin{aligned} X_A : \cdots &\longrightarrow X_A^{-2} \longrightarrow X_A^{-1} \longrightarrow X_A^0 \longrightarrow X_A^1 \longrightarrow \cdots \\ &\text{with } A \cong \text{Im}(X_A^{-1} \longrightarrow X_A^0), \\ X_C : \cdots &\longrightarrow X_C^{-2} \longrightarrow X_C^{-1} \longrightarrow X_C^0 \longrightarrow X_C^1 \longrightarrow \cdots \\ &\text{with } C \cong \text{Im} \dashv, (X_C^{-1} \longrightarrow X_C^0). \end{aligned}$$

Since $\mathcal{X} \subseteq \mathcal{Y}$ and $\mathcal{X} \subseteq \mathcal{Z}$, we have the sequence (2.1) is both $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact. Thus, there is an exact sequence of objects in \mathcal{X} :

$$X_B : \cdots \longrightarrow X_A^{-2} \oplus X_C^{-2} \longrightarrow X_A^{-1} \oplus X_C^{-1} \longrightarrow X_A^0 \oplus X_C^0 \longrightarrow X_A^1 \oplus X_C^1 \longrightarrow \cdots$$

such that $B \cong \text{Im}(X_A^{-1} \oplus X_C^{-1} \rightarrow X_A^0 \oplus X_C^0)$. It follows by the fundamental lemma of homological algebra that the sequence X_B is both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact. This implies that B is in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$.

Assume that B, C are in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$. Then there exist both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequences of objects in \mathcal{X} :

$$\begin{aligned} X_B : \cdots &\rightarrow X_B^{-2} \rightarrow X_B^{-1} \rightarrow X_B^0 \rightarrow X_B^1 \rightarrow \cdots \\ &\text{with } B \cong \text{Im}(X_B^{-1} \rightarrow X_B^0), \\ X_C : \cdots &\rightarrow X_C^{-2} \rightarrow X_C^{-1} \rightarrow X_C^0 \rightarrow X_C^1 \rightarrow \cdots \\ &\text{with } C \cong \text{Im}(X_C^{-1} \rightarrow X_C^0). \end{aligned}$$

By [8, Theorem 3.8], we have both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequence $0 \rightarrow A \rightarrow X_B^0 \rightarrow X_C^0 \oplus X_B^1 \rightarrow X_C^1 \oplus X_B^2 \rightarrow \cdots$. Consider the both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact short exact sequence $0 \rightarrow B^{-1} \rightarrow X_B^{-1} \rightarrow B \rightarrow 0$. We have the following pullback diagram:

$$\begin{array}{ccccccc} & & 0 & & 0 & & \\ & & \downarrow & & \downarrow & & \\ & & B^{-1} & \xlongequal{\quad} & B^{-1} & & \\ & & \downarrow & & \downarrow & & \\ 0 & \longrightarrow & C' & \longrightarrow & X_B^{-1} & \longrightarrow & C \longrightarrow 0 \\ & & \downarrow & & \downarrow & & \parallel \\ 0 & \longrightarrow & A & \longrightarrow & B & \longrightarrow & C \longrightarrow 0 \\ & & \downarrow & & \downarrow & & \\ & & 0 & & 0 & & \end{array}$$

A simple diagram chasing argument shows that the second row and the first column in the above diagram are both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact. Consider both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact short exact sequence $0 \rightarrow C^{-1} \rightarrow X_C^{-1} \rightarrow C \rightarrow 0$. We have

the following commutative diagram:

$$\begin{array}{ccccccc}
 0 & \longrightarrow & C^{-1} & \longrightarrow & X_C^{-1} & \longrightarrow & C \longrightarrow 0 \\
 & & \downarrow & & \downarrow & & \parallel \\
 0 & \longrightarrow & C' & \longrightarrow & X_B^{-1} & \longrightarrow & C \longrightarrow 0.
 \end{array}$$

Then we obtain both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequence $0 \rightarrow C^{-1} \rightarrow C' \oplus X_C^{-1} \rightarrow X_B^{-1} \rightarrow 0$, and so we get both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequence $\cdots \rightarrow X_C^{-4} \rightarrow X_C^{-3} \rightarrow X_C^{-2} \oplus X_B^{-1} \rightarrow C' \rightarrow 0$ by the preceding proof.

Consider the exact sequence $0 \rightarrow X_C^{-1} \rightarrow C' \oplus X_C^{-1} \rightarrow C' \rightarrow 0$. Then [8, Theorem 3.6] yields both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequence $\cdots \rightarrow X_C^{-4} \rightarrow X_C^{-3} \oplus X_C^{-1} \rightarrow X_C^{-2} \oplus X_B^{-1} \rightarrow C' \rightarrow 0$. Applying [8, Theorem 3.6] again for the first column in the first diagram, we get both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequence $\cdots \rightarrow X_C^{-4} \oplus X_B^{-3} \rightarrow X_C^{-3} \oplus X_C^{-1} \oplus X_B^{-2} \rightarrow X_C^{-2} \oplus X_B^{-1} \rightarrow A \rightarrow 0$. Therefore, the following exact sequence of objects in \mathcal{X}

$$\begin{aligned}
 X_A : \cdots &\longrightarrow X_C^{-4} \oplus X_B^{-3} \longrightarrow X_C^{-3} \oplus X_C^{-1} \\
 &\oplus X_B^{-2} \longrightarrow X_C^{-2} \oplus X_B^{-1} \longrightarrow X_B^0 \longrightarrow X_C^0 \\
 &\oplus X_B^1 \longrightarrow \cdots
 \end{aligned}$$

is both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact, such that $A \cong \text{Im}(X_C^{-2} \oplus X_B^{-1} \rightarrow X_B^0)$. It follows that A is in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$.

Assume that A, B are in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$. Then there exist both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequences of objects in \mathcal{X} :

$$\begin{aligned}
 X_A : \cdots &\longrightarrow X_A^{-2} \longrightarrow X_A^{-1} \longrightarrow X_A^0 \longrightarrow X_A^1 \longrightarrow \cdots \\
 &\text{with } A \cong \text{Im}(X_A^{-1} \longrightarrow X_A^0), \\
 X_B : \cdots &\longrightarrow X_B^{-2} \longrightarrow X_B^{-1} \longrightarrow X_B^0 \longrightarrow X_B^1 \longrightarrow \cdots \\
 &\text{with } B \cong \text{Im}(X_B^{-1} \longrightarrow X_B^0).
 \end{aligned}$$

By [8, Theorem 3.6], we have both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequence $\cdots \rightarrow X_B^{-3} \oplus X_A^{-2} \rightarrow X_B^{-2} \oplus X_A^{-1} \rightarrow X_B^{-1} \rightarrow C \rightarrow 0$. Consider both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact short exact sequence $0 \rightarrow B \rightarrow X_B^0 \rightarrow B^1 \rightarrow 0$. We have the following pushout

diagram:

$$\begin{array}{ccccccc}
 & & & 0 & & 0 & \\
 & & & \downarrow & & \downarrow & \\
 0 & \longrightarrow & A & \longrightarrow & B & \longrightarrow & C \longrightarrow 0 \\
 & & \parallel & & \downarrow & & \downarrow \\
 0 & \longrightarrow & A & \longrightarrow & X_B^0 & \longrightarrow & A' \longrightarrow 0 \\
 & & & & \downarrow & & \downarrow \\
 & & & & B^1 & = & B^1 \\
 & & & & \downarrow & & \downarrow \\
 & & & & 0 & & 0.
 \end{array}$$

A simple diagram chasing argument shows that the second row and the third column in the above diagram are both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact. Consider both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact short exact sequence $0 \rightarrow A \rightarrow X_A^0 \rightarrow A^1 \rightarrow 0$. We have the following commutative diagram:

$$\begin{array}{ccccccc}
 0 & \longrightarrow & A & \longrightarrow & X_B^0 & \longrightarrow & A' \longrightarrow 0 \\
 & & \parallel & & \downarrow & & \downarrow \\
 0 & \longrightarrow & A & \longrightarrow & X_A^0 & \longrightarrow & A^1 \longrightarrow 0.
 \end{array}$$

Then we obtain both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequence $0 \rightarrow X_B^0 \rightarrow A' \oplus X_A^0 \rightarrow A^1 \rightarrow 0$, and so we get both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequence $0 \rightarrow A' \oplus X_A^0 \rightarrow X_A^1 \oplus X_B^0 \rightarrow X_A^2 \rightarrow X_A^3 \rightarrow \dots$ by the preceding proof.

Consider the exact sequence $0 \rightarrow A' \rightarrow A' \oplus X_A^0 \rightarrow X_A^0 \rightarrow 0$. Then [8, Theorem 3.8] yields both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequence $0 \rightarrow A' \rightarrow X_A^1 \oplus X_B^0 \rightarrow X_A^0 \oplus X_A^2 \rightarrow X_A^3 \rightarrow \dots$. Applying [8, Theorem 3.8] again for the third column in the first diagram, we get both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequence $0 \rightarrow C \rightarrow X_A^1 \oplus X_B^0 \rightarrow X_A^0 \oplus X_A^2 \oplus X_B^1 \rightarrow X_A^3 \oplus X_B^2 \rightarrow \dots$.

Therefore, the following exact sequence of objects in \mathcal{X}

$$\begin{aligned} X_C : \dots \longrightarrow X_B^{-2} \oplus X_A^{-1} \longrightarrow X_B^{-1} \longrightarrow X_A^1 \\ \oplus X_B^0 \longrightarrow X_A^0 \oplus X_A^2 \oplus X_B^1 \longrightarrow X_A^3 \oplus X_B^2 \longrightarrow \dots \end{aligned}$$

is both $\implies \text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\implies \text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact, such that $C \cong \text{Im}(X_B^{-1} \rightarrow X_A^1 \oplus X_B^0)$. It follows that C is in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$. \square

Lemma 2.4. *Assume that A is in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$. If $\mathcal{X} \perp \mathcal{Y}$, then $\text{Ext}_{\mathcal{A}}^{\geq 1}(Y, A) = 0$ for any $Y \in \widehat{\text{cores } \mathcal{Y}}$. Also if $\mathcal{X} \perp \mathcal{Z}$, then $\text{Ext}_{\mathcal{A}}^{\geq 1}(A, Z) = 0$ for any $Z \in \widehat{\text{res } \mathcal{Z}}$.*

Proof. It is easy. \square

Corollary 2.5. *Given a short exact sequence of objects in \mathcal{A}*

$$(2.2) \quad 0 \longrightarrow A \longrightarrow B \longrightarrow C \longrightarrow 0.$$

- (i) *Assume that $\mathcal{X} \perp \mathcal{Y}, \mathcal{X} \perp \mathcal{Z}$. If A, C are in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$, then B is in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$;*
- (ii) *Assume that $\mathcal{X} \perp \mathcal{Z}$. If C is in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ and the sequence (2.2) is $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact, then A is in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ if and only if B is in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$;*
- (iii) *Assume that $\mathcal{X} \perp \mathcal{Y}$. If A is in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ and the sequence (2.2) is $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact, then C is in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ if and only if B is in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$.*

Proof.

- (i) Since A, C are in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ and $\mathcal{X} \perp \mathcal{Y}, \mathcal{X} \perp \mathcal{Z}$, it follows that $\text{Ext}_{\mathcal{A}}^{\geq 1}(Y, A) = 0 = \text{Ext}_{\mathcal{A}}^{\geq 1}(C, Z)$ for any $Y \in \mathcal{Y}$ and $Z \in \mathcal{Z}$. So the sequence (2.2) is both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact. Thus, Theorem 2.3 implies that B is in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$.
- (ii) Since C is in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ and $\mathcal{X} \perp \mathcal{Z}$, we get $\text{Ext}_{\mathcal{A}}^{\geq 1}(C, Z) = 0$ for any $Z \in \mathcal{Z}$, and so the sequence (2.2) is $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact. Hence, Theorem 2.3 shows our desired result.
- (iii) Since A is in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ and $\mathcal{X} \perp \mathcal{Y}$, we get $\text{Ext}_{\mathcal{A}}^{\geq 1}(Y, A) = 0$ for any $Y \in \mathcal{Y}$, and so the sequence (2.2) is $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact. Hence, Theorem 2.3 shows our desired result. \square

Corollary 2.6. ([10, Theorem 4.12]). *Assume that $\mathcal{X} \perp \mathcal{X}$.*

- (i) *If \mathcal{X} is closed under taking kernels of epimorphisms, then so is $\mathcal{G}(\mathcal{X})$.*
- (ii) *If \mathcal{X} is closed under taking cokernels of monomorphisms, then so is $\mathcal{G}(\mathcal{X})$.*

Let \mathcal{C} be a class of objects in \mathcal{A} . Assume that \mathcal{A} has enough projective objects and injective objects. We call \mathcal{C} *projectively resolving* [7] if (1) it contains all projective objects; (2) for every short exact sequence $0 \rightarrow C' \rightarrow C \rightarrow C'' \rightarrow 0$ with $C'' \in \mathcal{C}$, the conditions $C' \in \mathcal{C}$ and $C \in \mathcal{C}$ are equivalent. An injectively resolving class is defined dually.

Corollary 2.7. *If \mathcal{Z} is a class of R -modules that contains all projective R -modules, then the class of \mathcal{Z} -Gorenstein projective R -modules is projectively resolving. In particular, the class of strongly Gorenstein flat R -modules and the class of Gorenstein projective R -modules are projectively resolving.*

Corollary 2.8. *If \mathcal{Y} is a class of R -modules that contains all injective R -modules, then the class of \mathcal{Y} -Gorenstein injective R -modules is injectively resolving. In particular, the class of Gorenstein FP-injective R -modules and the class of Gorenstein injective R -modules are injectively resolving.*

Theorem 2.9. *The subcategory $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ is closed under direct summands.*

Proof. Let $A_1 \oplus A_2 = A$ be in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$. Then there exist both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequence of objects in \mathcal{X} :

$$X_A : \cdots \rightarrow X_A^{-2} \rightarrow X_A^{-1} \rightarrow X_A^0 \rightarrow X_A^1 \rightarrow \cdots$$

with $A \cong \text{Im}(X_A^{-1} \rightarrow X_A^0)$.

Consider the both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact short exact sequence $0 \rightarrow A^{-1} \rightarrow X_A^{-1} \rightarrow A \rightarrow 0$. We have the following

pullback diagram:

$$\begin{array}{ccccccc}
 & & 0 & & 0 & & \\
 & & \downarrow & & \downarrow & & \\
 & & A^{-1} & \xlongequal{\quad} & A^{-1} & & \\
 & & \downarrow & & \downarrow & & \\
 0 & \longrightarrow & D & \longrightarrow & X_A^{-1} & \longrightarrow & A_1 \longrightarrow 0 \\
 & & \downarrow & & \downarrow & & \parallel \\
 0 & \longrightarrow & A_2 & \longrightarrow & A & \longrightarrow & A_1 \longrightarrow 0 \\
 & & \downarrow & & \downarrow & & \\
 & & 0 & & 0 & &
 \end{array}$$

A simple diagram chasing argument shows that the middle row is both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact. Similarly, we have both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequence $0 \rightarrow D' \rightarrow X_A^{-1} \rightarrow A_2 \rightarrow 0$. Consider the exact sequence $0 \rightarrow A_i \rightarrow A \rightarrow A_j \rightarrow 0$ for $i, j = 1, 2$. Then [8, Theorem 3.6] yields both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequences $X_A^{-1} \oplus X_A^{-2} \rightarrow X_A^{-1} \rightarrow A_1 \rightarrow 0$ and $X_A^{-1} \oplus X_A^{-2} \rightarrow X_A^{-1} \rightarrow A_2 \rightarrow 0$. Again, [8, Theorem 3.6] provides both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequences $X_A^{-1} \oplus X_A^{-2} \oplus X_A^{-3} \rightarrow X_A^{-1} \oplus X_A^{-2} \rightarrow X_A^{-1} \rightarrow A_1 \rightarrow 0$ and $X_A^{-1} \oplus X_A^{-2} \oplus X_A^{-3} \rightarrow X_A^{-1} \oplus X_A^{-2} \rightarrow X_A^{-1} \rightarrow A_2 \rightarrow 0$. Continuing this process, we get both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequences

$$\begin{aligned}
 & \cdots \longrightarrow X_A^{-1} \oplus X_A^{-2} \oplus X_A^{-3} \longrightarrow X_A^{-1} \\
 & \oplus X_A^{-2} \longrightarrow X_A^{-1} \longrightarrow A_1 \longrightarrow 0, \\
 & \cdots \longrightarrow X_A^{-1} \oplus X_A^{-2} \oplus X_A^{-3} \longrightarrow X_A^{-1} \\
 & \oplus X_A^{-2} \longrightarrow X_A^{-1} \longrightarrow A_2 \longrightarrow 0.
 \end{aligned}$$

Dually, repeated applications of [8, Theorem 3.8] yields both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequences

$$\begin{aligned}
 0 & \longrightarrow A_1 \longrightarrow X_A^0 \longrightarrow X_A^0 \oplus X_A^1 \longrightarrow X_A^0 \oplus X_A^1 \oplus X_A^2 \longrightarrow \cdots, \\
 0 & \longrightarrow A_2 \longrightarrow X_A^0 \longrightarrow X_A^0 \oplus X_A^1 \longrightarrow X_A^0 \oplus X_A^1 \oplus X_A^2 \longrightarrow \cdots.
 \end{aligned}$$

Consequently, A_1 and A_2 are in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$. □

Set $\mathcal{G}^1(\mathcal{X}, \mathcal{Y}, \mathcal{Z}) = \mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$, and inductively set $\mathcal{G}^{n+1}(\mathcal{X}, \mathcal{Y}, \mathcal{Z}) = \mathcal{G}(\mathcal{G}^n(\mathcal{X}, \mathcal{Y}, \mathcal{Z}), \mathcal{G}^n(\mathcal{Y}), \mathcal{G}^n(\mathcal{Z}))$ for any $n \geq 1$, where $\mathcal{G}^n(\mathcal{Y}) = \mathcal{G}(\mathcal{G}^{n-1}(\mathcal{Y}))$ and $\mathcal{G}^0(\mathcal{Y}) = \mathcal{Y}$. Let \mathcal{C} be an additive full subcategory of \mathcal{A} . Huang [8] provided a method to construct a proper \mathcal{C} -resolution (respectively, coproper \mathcal{C} -coresolution) of one term in a short exact sequence in \mathcal{A} from those of the other two terms. By using these constructions, he answered affirmatively an open question on the stability of the Gorenstein category $\mathcal{G}(\mathcal{C})$ posed by Sather-Wagstaff, Sharif and White [10]. Now we get the following result.

Theorem 2.10. $\mathcal{G}^n(\mathcal{X}, \mathcal{Y}, \mathcal{Z}) = \mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ for any $n \geq 1$.

Proof. It is easy to see that $\mathcal{X} \subseteq \mathcal{G}^1(\mathcal{X}, \mathcal{Y}, \mathcal{Z}) \subseteq \mathcal{G}^2(\mathcal{X}, \mathcal{Y}, \mathcal{Z}) \subseteq \dots$ is an ascending chain of additive subcategories of \mathcal{A} .

Let M be an object in $\mathcal{G}^2(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$, and

$$\dots \longrightarrow G_1 \longrightarrow G_0 \longrightarrow G^0 \longrightarrow G^1 \longrightarrow \dots$$

both $\text{Hom}_{\mathcal{A}}(\mathcal{G}(\mathcal{Y}), -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{G}(\mathcal{Z}))$ -exact sequences in $\mathcal{G}^1(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ with $M \cong \text{Im}(G_0 \rightarrow G^0)$. Then for any $j \geq 0$, there exist both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequences:

$$\begin{aligned} \dots &\longrightarrow X_j^i \longrightarrow \dots \longrightarrow X_j^1 \longrightarrow X_j^0 \longrightarrow G_j \longrightarrow 0, \\ 0 &\longrightarrow G^j \longrightarrow Y_0^j \longrightarrow Y_1^j \longrightarrow \dots \longrightarrow Y_i^j \longrightarrow \dots \end{aligned}$$

with all X_j^i and Y_i^j in \mathcal{X} . By [8, Corollary 3.7 and 3.9], we get exact sequences:

$$\begin{aligned} \dots &\longrightarrow \bigoplus_{j=0}^n X_j^{n-j} \longrightarrow \dots \longrightarrow X_0^1 \oplus X_1^0 \longrightarrow X_0^0 \longrightarrow M \longrightarrow 0, \\ 0 &\longrightarrow M \longrightarrow Y_0^0 \longrightarrow Y_1^0 \oplus Y_0^1 \longrightarrow \dots \longrightarrow \bigoplus_{j=0}^n Y_{n-j}^j \longrightarrow \dots, \end{aligned}$$

which are both $\text{Hom}_{\mathcal{A}}(\mathcal{Y}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact. So

$$\begin{aligned} \cdots \longrightarrow \bigoplus_{j=0}^n X_j^{n-j} \longrightarrow \cdots \longrightarrow X_0^1 \oplus X_1^0 \longrightarrow X_0^0 \\ \longrightarrow Y_0^0 \longrightarrow Y_1^0 \oplus Y_0^1 \longrightarrow \cdots \longrightarrow \bigoplus_{j=0}^n Y_{n-j}^j \longrightarrow \cdots \end{aligned}$$

is an exact sequence in \mathcal{X} with $M \cong \text{Im}(X_0^0 \rightarrow Y_0^0)$, and hence M is in $\mathcal{G}^1(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$ and $\mathcal{G}^2(\mathcal{X}, \mathcal{Y}, \mathcal{Z}) \subseteq \mathcal{G}^1(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$. This implies that $\mathcal{G}^2(\mathcal{X}, \mathcal{Y}, \mathcal{Z}) = \mathcal{G}^1(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$. By using induction on n we easily get the assertion. \square

Corollary 2.11. ([8, Theorem 4.1]). $\mathcal{G}^n(\mathcal{X}) = \mathcal{G}(\mathcal{X})$ for any $n \geq 1$.

Corollary 2.12. *If \mathcal{Z} is a class of R -modules that contains all projective R -modules, then the class of \mathcal{Z} -Gorenstein projective R -modules is stable. Dually, if \mathcal{Y} is a class of R -modules that contains all injective R -modules, then the class of \mathcal{Y} -Gorenstein injective R -modules is stable.*

3. Gorenstein homological dimensions. In this section, we establish Gorenstein homological dimensions in terms of the Gorenstein category $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z})$.

Proposition 3.1. *Assume that $\mathcal{X} = \mathcal{Y}$, $\mathcal{X} \perp \mathcal{Z}$ and every object in \mathcal{A} has an epic \mathcal{X} -precover. Consider the following $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequences*

$$\begin{aligned} 0 \longrightarrow K_n \longrightarrow G_{n-1} \longrightarrow \cdots \longrightarrow G_0 \longrightarrow M \longrightarrow 0, \\ 0 \longrightarrow \tilde{K}_n \longrightarrow \tilde{G}_{n-1} \longrightarrow \cdots \longrightarrow \tilde{G}_0 \longrightarrow M \longrightarrow 0 \end{aligned}$$

in \mathcal{A} , where each G_i and \tilde{G}_i are in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z}) = \mathcal{G}(\mathcal{X}, \mathcal{Z})$. Then K_n is in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ if and only if \tilde{K}_n is in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$.

Proof. In view of our assumption, there exists a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence:

$$0 \longrightarrow L_n \longrightarrow X_{n-1} \longrightarrow \cdots \longrightarrow X_0 \longrightarrow M \longrightarrow 0,$$

where each X_i is in \mathcal{X} . Then we get the following commutative diagrams:

$$\begin{array}{ccccccccccc}
 0 & \longrightarrow & L_n & \longrightarrow & X_{n-1} & \longrightarrow & \cdots & \longrightarrow & X_0 & \longrightarrow & M & \longrightarrow & 0 \\
 & & \downarrow & & \downarrow & & & & \downarrow & & \parallel & & \\
 0 & \longrightarrow & K_n & \longrightarrow & G_{n-1} & \longrightarrow & \cdots & \longrightarrow & G_0 & \longrightarrow & M & \longrightarrow & 0, \\
 \\
 0 & \longrightarrow & L_n & \longrightarrow & X_{n-1} & \longrightarrow & \cdots & \longrightarrow & X_0 & \longrightarrow & M & \longrightarrow & 0 \\
 & & \downarrow & & \downarrow & & & & \downarrow & & \parallel & & \\
 0 & \longrightarrow & \tilde{K}_n & \longrightarrow & \tilde{G}_{n-1} & \longrightarrow & \cdots & \longrightarrow & \tilde{G}_0 & \longrightarrow & M & \longrightarrow & 0.
 \end{array}$$

From these two diagrams, we have the following $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequences:

$$\begin{array}{l}
 0 \longrightarrow L_n \longrightarrow K_n \oplus X_{n-1} \longrightarrow \cdots \\
 \longrightarrow G_1 \oplus X_0 \longrightarrow G_0 \longrightarrow 0, \\
 0 \longrightarrow L_n \longrightarrow \tilde{K}_n \oplus X_{n-1} \longrightarrow \cdots \\
 \longrightarrow \tilde{G}_1 \oplus X_0 \longrightarrow \tilde{G}_0 \longrightarrow 0.
 \end{array}$$

If K_n is in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$, then Corollary 2.5 implies that L_n is in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$, and so \tilde{K}_n is also in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$. Similarly, if \tilde{K}_n is in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$, then K_n is in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$. □

Definition 3.2. Assume $\mathcal{X} = \mathcal{Y}$, $\mathcal{X} \perp \mathcal{Z}$ and every object in \mathcal{A} has an epic \mathcal{X} -precover. We say that an object M of \mathcal{A} has $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ -projective dimension less than or equal to n , denoted by $\mathcal{G}(\mathcal{X}, \mathcal{Z})\text{-pd}(M) \leq n$, if there exists a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence

$$0 \longrightarrow G_n \longrightarrow G_{n-1} \longrightarrow \cdots \longrightarrow G_0 \longrightarrow M \longrightarrow 0$$

in \mathcal{A} with each G_i in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$. If no such finite sequence exists, define $\mathcal{G}(\mathcal{X}, \mathcal{Z})\text{-pd}(M) = \infty$; otherwise, if n is the least such integer, define $\mathcal{G}(\mathcal{X}, \mathcal{Z})\text{-pd}(M) = n$.

Proposition 3.3. Assume that $\mathcal{X} = \mathcal{Y}$, $\mathcal{X} \perp \mathcal{Z}$ and every object in \mathcal{A} has an epic \mathcal{X} -precover. Let M be an object in \mathcal{A} with

$\mathcal{G}(\mathcal{X}, \mathcal{Z})$ - $\text{pd}(M) = n$. Then there exist $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequences

$$\begin{aligned} 0 \longrightarrow H \longrightarrow G \longrightarrow M \longrightarrow 0, \\ 0 \longrightarrow M \longrightarrow H' \longrightarrow G' \longrightarrow 0, \end{aligned}$$

with G in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$, \mathcal{X} - $\text{pd}(H) \leq n - 1$ and G' in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$, \mathcal{X} - $\text{pd}(H') \leq n$.

Proof. We will prove the desired result by induction on n . If $n = 0$, then M is in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$. Thus, there exists a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence

$$0 \longrightarrow 0 \longrightarrow M \longrightarrow M \longrightarrow 0.$$

We also have a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence

$$0 \longrightarrow M \longrightarrow X \longrightarrow G' \longrightarrow 0,$$

with X in \mathcal{X} and G' in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$.

Now, let $n = 1$, and let $0 \rightarrow L_1 \rightarrow L_0 \rightarrow M \rightarrow 0$ be a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence with each L_i in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$. By the case $n = 0$, we know that there is a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow L_1 \rightarrow X_0 \rightarrow H_0 \rightarrow 0$ with X_0 in \mathcal{X} and H_0 in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$. Consider the following pushout diagram:

$$\begin{array}{ccccccc} & & 0 & & 0 & & \\ & & \downarrow & & \downarrow & & \\ 0 & \longrightarrow & L_1 & \longrightarrow & L_0 & \longrightarrow & M \longrightarrow 0 \\ & & \downarrow & & \downarrow & & \parallel \\ 0 & \longrightarrow & X_0 & \longrightarrow & G_0 & \longrightarrow & M \longrightarrow 0 \\ & & \downarrow & & \downarrow & & \\ & & H_0 & \equiv & H_0 & & \\ & & \downarrow & & \downarrow & & \\ & & 0 & & 0 & & \end{array}$$

A simple diagram chasing argument shows that the second row and the second column in the above diagram are $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact. But L_0, H_0 are in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$, so Corollary 2.5 implies that G_0 is in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$.

Thus, we have a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow X_0 \rightarrow G_0 \rightarrow M \rightarrow 0$ with X_0 in \mathcal{X} and G_0 in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$.

Also, there is a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow G_0 \rightarrow X_1 \rightarrow G_1 \rightarrow 0$ with X_1 in \mathcal{X} and G_1 in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$. Consider the following pushout diagram:

$$\begin{array}{ccccccc}
 & & 0 & & 0 & & \\
 & & \downarrow & & \downarrow & & \\
 & & X_0 & \xlongequal{\quad} & X_0 & & \\
 & & \downarrow & & \downarrow & & \\
 0 & \longrightarrow & G_0 & \longrightarrow & X_1 & \longrightarrow & G_1 \longrightarrow 0 \\
 & & \downarrow & & \downarrow & & \parallel \\
 0 & \longrightarrow & M & \longrightarrow & H_1 & \longrightarrow & G_1 \longrightarrow 0 \\
 & & \downarrow & & \downarrow & & \\
 & & 0 & & 0 & &
 \end{array}$$

From the middle column, we know that $\mathcal{X}\text{-pd}(H_1) \leq 1$. Thus, we have a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow M \rightarrow H_1 \rightarrow G_1 \rightarrow 0$ with $\mathcal{X}\text{-pd}(H_1) \leq 1$ and G_1 in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$.

Suppose $n > 1$. Then we have a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow G_n \rightarrow \cdots \rightarrow G_1 \rightarrow G_0 \rightarrow M \rightarrow 0$ with each G_i in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$. Let $K_1 = \text{Im}(G_1 \rightarrow G_0)$. Then we have $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequences $0 \rightarrow K_1 \rightarrow G_0 \rightarrow M \rightarrow 0$ and $0 \rightarrow G_n \rightarrow \cdots \rightarrow G_1 \rightarrow K_1 \rightarrow 0$, i.e., $\mathcal{G}(\mathcal{X}, \mathcal{Z})\text{-pd}(K_1) = n - 1$.

By the induction hypothesis, there is a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow K_1 \rightarrow H \rightarrow \bar{G} \rightarrow 0$ with $\mathcal{X}\text{-pd}(H) \leq n - 1$ and \bar{G} in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$.

Consider the following pushout diagram:

$$\begin{array}{ccccccc}
 & & 0 & & 0 & & \\
 & & \downarrow & & \downarrow & & \\
 0 & \longrightarrow & K_1 & \longrightarrow & G_0 & \longrightarrow & M \longrightarrow 0 \\
 & & \downarrow & & \downarrow & & \parallel \\
 0 & \longrightarrow & H & \longrightarrow & G & \longrightarrow & M \longrightarrow 0 \\
 & & \downarrow & & \downarrow & & \\
 & & \bar{G} & \xlongequal{\quad} & \bar{G} & & \\
 & & \downarrow & & \downarrow & & \\
 & & 0 & & 0 & &
 \end{array}$$

Note that the middle column is $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact. Then Corollary 2.5 implies that G is in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$. Thus, there exists a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow G \rightarrow X \rightarrow G' \rightarrow 0$ with X in \mathcal{X} and G' in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$. Consider the following pushout diagram:

$$\begin{array}{ccccccc}
 & & 0 & & 0 & & \\
 & & \downarrow & & \downarrow & & \\
 0 & \longrightarrow & H & \longrightarrow & G & \longrightarrow & M \longrightarrow 0 \\
 & & \parallel & & \downarrow & & \downarrow \\
 0 & \longrightarrow & H & \longrightarrow & X & \longrightarrow & H' \longrightarrow 0 \\
 & & & & \downarrow & & \downarrow \\
 & & & & G' & \xlongequal{\quad} & G' \\
 & & & & \downarrow & & \downarrow \\
 & & & & 0 & & 0.
 \end{array}$$

Since $X \in \mathcal{X}$ and $\mathcal{X}\text{-pd}(H) \leq n - 1$, we get $\mathcal{X}\text{-pd}(H') \leq n$ by the middle row. A simple diagram chasing argument shows that the first row and the third column in the above diagram are $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact. Therefore, the first row and the third column are the desired exact sequences. □

Theorem 3.4. *Assume that $\mathcal{X} = \mathcal{Y}$, $\mathcal{X} \perp \mathcal{Z}$ and every object in \mathcal{A} has an epic \mathcal{X} -precover. Let M be an object in \mathcal{A} with finite*

$\mathcal{G}(\mathcal{X}, \mathcal{Z})$ -projective dimension. Then the following are equivalent for a nonnegative integer n :

- (i) $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ -pd(M) $\leq n$;
- (ii) There is a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow G \rightarrow X_{n-1} \rightarrow \cdots \rightarrow X_0 \rightarrow M \rightarrow 0$ with each X_i in \mathcal{X} and G in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$;
- (iii) M has a proper $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ -resolution of length n ;
- (iv) There is a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow X_n \rightarrow \cdots \rightarrow X_1 \rightarrow G \rightarrow M \rightarrow 0$ with each X_i in \mathcal{X} and G in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$;
- (v) There is a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow X_n \rightarrow \cdots \rightarrow X_{i+1} \rightarrow G \rightarrow X_{i-1} \rightarrow \cdots \rightarrow X_0 \rightarrow M \rightarrow 0$ with each X_i in \mathcal{X} and G in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$;
- (vi) $\text{Ext}_{\mathcal{A}}^i(M, Z) = 0$ for all $i > n$ and all $Z \in \mathcal{Z}$;
- (vii) $\text{Ext}_{\mathcal{A}}^i(M, L) = 0$ for all $i > n$ and all $L \in \widehat{\text{res}} \mathcal{Z}$;
- (viii) $\text{Ext}_{\mathcal{A}}^{n+1}(M, L) = 0$ for all $L \in \widehat{\text{res}} \mathcal{Z}$.

Furthermore, we have that

$$\begin{aligned} \mathcal{G}(\mathcal{X}, \mathcal{Z})\text{-pd}(M) &= \sup\{i \in \mathbb{N} \mid \text{Ext}_{\mathcal{A}}^i(M, L) \neq 0 \text{ for some } L \in \widehat{\text{res}} \mathcal{Z}\} \\ &= \sup\{i \in \mathbb{N} \mid \text{Ext}_{\mathcal{A}}^i(M, Z) \neq 0 \text{ for some } Z \in \mathcal{Z}\}. \end{aligned}$$

Proof. The case $n = 0$ is trivial. We may assume $n \geq 1$.

(i) \Rightarrow (ii). By (i), there exists a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow N \rightarrow G_0 \rightarrow M \rightarrow 0$ with G_0 in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ and $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ -pd(N) $\leq n - 1$. For G_0 , there exists a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow G'_0 \rightarrow X_0 \rightarrow G_0 \rightarrow 0$ with G'_0 in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ and X_0 in \mathcal{X} . Then we have the following

pullback diagram:

$$\begin{array}{ccccccc}
 & & 0 & & 0 & & \\
 & & \downarrow & & \downarrow & & \\
 & & G'_0 & \xlongequal{\quad} & G'_0 & & \\
 & & \downarrow & & \downarrow & & \\
 0 & \longrightarrow & H & \longrightarrow & X_0 & \longrightarrow & M \longrightarrow 0 \\
 & & \downarrow & & \downarrow & & \parallel \\
 0 & \longrightarrow & N & \longrightarrow & G_0 & \longrightarrow & M \longrightarrow 0 \\
 & & \downarrow & & \downarrow & & \\
 & & 0 & & 0 & &
 \end{array}$$

A simple diagram chasing argument shows that the first column is $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact. For N , there exists a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow K \rightarrow G_1 \rightarrow N \rightarrow 0$ with G_1 in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ and $\mathcal{G}(\mathcal{X}, \mathcal{Z})\text{-pd}(K) \leq n - 2$. Then we have the following pullback diagram:

$$\begin{array}{ccccccc}
 & & 0 & & 0 & & \\
 & & \downarrow & & \downarrow & & \\
 & & K & \xlongequal{\quad} & K & & \\
 & & \downarrow & & \downarrow & & \\
 0 & \longrightarrow & G'_0 & \longrightarrow & G & \longrightarrow & G_1 \longrightarrow 0 \\
 & & \parallel & & \downarrow & & \downarrow \\
 0 & \longrightarrow & G'_0 & \longrightarrow & H & \longrightarrow & N \longrightarrow 0 \\
 & & & & \downarrow & & \downarrow \\
 & & & & 0 & & 0.
 \end{array}$$

A simple diagram chasing argument shows that the second row and the second column are $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact; thus, G is in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ by Corollary 2.5 and $\mathcal{G}(\mathcal{X}, \mathcal{Z})\text{-pd}(H) \leq n - 1$. It follows that we have a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow H \rightarrow X_0 \rightarrow M \rightarrow 0$ with X_0 in \mathcal{X} and $\mathcal{G}(\mathcal{X}, \mathcal{Z})\text{-pd}(H) \leq n - 1$. By repeating this process, we have a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow G \rightarrow X_{n-1} \rightarrow \cdots \rightarrow X_0 \rightarrow M \rightarrow 0$ with each X_i in \mathcal{X} and G in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$.

(ii) \Rightarrow (iii). Suppose M satisfies (ii). For G in (ii), there is both a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact and $\text{Hom}_{\mathcal{A}}(-, \mathcal{Z})$ -exact sequence $0 \rightarrow G \rightarrow X^0 \rightarrow \dots \rightarrow X^{n-1} \rightarrow G' \rightarrow 0$ with each X^i in \mathcal{X} and G' in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$. Since $\mathcal{X} \subseteq \mathcal{Z}$, we have the following commutative diagram:

$$\begin{array}{ccccccccccc} 0 & \longrightarrow & G & \longrightarrow & X^0 & \longrightarrow & \dots & \longrightarrow & X^{n-1} & \longrightarrow & G' & \longrightarrow & 0 \\ & & \parallel & & \downarrow & & & & \downarrow & & \downarrow & & \\ 0 & \longrightarrow & G & \longrightarrow & X_{n-1} & \longrightarrow & \dots & \longrightarrow & X_0 & \longrightarrow & M & \longrightarrow & 0. \end{array}$$

Then we have a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence

$$\begin{aligned} X : 0 \longrightarrow X^0 \longrightarrow X_{n-1} \oplus X^1 \longrightarrow \dots \\ \longrightarrow X_1 \oplus X^{n-1} \longrightarrow X_0 \oplus G' \longrightarrow M \longrightarrow . \end{aligned}$$

But each cokernel of X except M has a finite \mathcal{X} -resolution, so X is $\text{Hom}_{\mathcal{A}}(\mathcal{G}(\mathcal{X}, \mathcal{Z}), -)$ -exact by Lemma 2.4. Therefore, X is a proper $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ -resolution of M of length n .

(ii) \Rightarrow (iv). Note that X in the proof of (ii) \Rightarrow (iii) is just the desired exact sequence.

(iii) \Rightarrow (i), (iv) \Rightarrow (i) and (vi) \Rightarrow (i) are obvious.

(i) \Rightarrow (v) is immediate by the equivalence of (i) and (iv).

(i) \Rightarrow (vi). By assumption, there exists a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow G_n \rightarrow G_{n-1} \rightarrow \dots \rightarrow G_0 \rightarrow M \rightarrow 0$ with each G_i in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$. So $\text{Ext}_{\mathcal{A}}^{n+j}(M, Z) \cong \text{Ext}_{\mathcal{A}}^j(G_n, Z) = 0$ for all $j \geq 1$ and all $Z \in \mathcal{Z}$ by Lemma 2.4.

(vi) \Rightarrow (vii) follows from the usual dimension shifting argument.

(vii) \Rightarrow (viii) is clear.

(viii) \Rightarrow (i). By hypothesis, let $\mathcal{G}(\mathcal{X}, \mathcal{Z})\text{-pd}(M) = m < \infty$. If $m \leq n$, there is nothing to prove. So we assume $m > n$. Then there is a $\text{Hom}_{\mathcal{A}}(\mathcal{X}, -)$ -exact sequence $0 \rightarrow X_m \rightarrow \dots \rightarrow X_1 \rightarrow G \rightarrow M \rightarrow 0$ with each X_i in \mathcal{X} and G in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ by the equivalence of (i) and (iv). Let $K_i = \text{coker}(X_{i+1} \rightarrow X_i)$ for $1 \leq i \leq m - 1$. If $n = 0$, then $\text{Ext}_{\mathcal{A}}^{n+j}(M, K_1) = 0$ by (viii) since $\mathcal{X} \subseteq \mathcal{Z}$. Thus, the exact sequence $0 \rightarrow K_1 \rightarrow G \rightarrow M \rightarrow 0$ is split, and M is in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$, as desired.

Let $n \geq 1$. Since $\mathcal{X}\text{-pd}(K_{n+1}) < \infty$, we have that $\text{Ext}_{\mathcal{A}}^1(K_n, K_{n+1}) \cong \text{Ext}_{\mathcal{A}}^{n+1}(M, K_{n+1}) = 0$ by Lemma 2.4 and (viii). So the exact sequence

$0 \rightarrow K_{n+1} \rightarrow X_n \rightarrow K_n \rightarrow 0$ splits. Thus, K_n is in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ and (i) follows.

The last claim is an immediate consequence of the equivalences of (i), (vi) and (vii). \square

Proposition 3.5. *Assume that $\mathcal{X} = \mathcal{Y}$, $\mathcal{X} \perp \mathcal{Z}$ and every object in \mathcal{A} has an epic \mathcal{X} -precover. Then every object in \mathcal{A} with finite $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ -projective dimension has a special $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ -precover.*

Proof. Let M be an object in \mathcal{A} with finite $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ -projective dimension. Then Proposition 3.3 yields an exact sequence $0 \rightarrow H \rightarrow G \rightarrow M \rightarrow 0$ with G in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ and $\mathcal{X}\text{-pd}(H) \leq \mathcal{G}(\mathcal{X}, \mathcal{Z})\text{-pd}(M) - 1$. Now, if G' is in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$, then $\text{Ext}_{\mathcal{A}}^1(G', H) = 0$ which shows that $G \rightarrow M$ is a special $\mathcal{G}(\mathcal{X}, \mathcal{Z})$ -precover of M . \square

Corollary 3.6. ([9, Proposition 3.16]). *Assume that \mathcal{Z} is a class of R -modules that contains all projective R -modules. Then every R -module with finite \mathcal{Z} -Gorenstein projective dimension has a special \mathcal{Z} -Gorenstein projective precover.*

The dual results are given by the next results.

Proposition 3.7. *Assume that $\mathcal{X} = \mathcal{Z}$, $\mathcal{X} \perp \mathcal{Y}$ and every object in \mathcal{A} has a monic \mathcal{X} -preenvelope. Consider the following $\text{Hom}_{\mathcal{A}}(-, \mathcal{X})$ -exact sequences:*

$$\begin{aligned} 0 \longrightarrow M \longrightarrow G^0 \longrightarrow \cdots \longrightarrow G^{n-1} \longrightarrow H_n \longrightarrow 0, \\ 0 \longrightarrow M \longrightarrow \tilde{G}^0 \longrightarrow \cdots \longrightarrow \tilde{G}^{n-1} \longrightarrow \tilde{H}_n \longrightarrow 0 \end{aligned}$$

in \mathcal{A} , where each G^i and \tilde{G}^i are in $\mathcal{G}(\mathcal{X}, \mathcal{Y}, \mathcal{Z}) = \mathcal{G}(\mathcal{X}, \mathcal{Y})$. Then H_n is in $\mathcal{G}(\mathcal{X}, \mathcal{Y})$ if and only if \tilde{H}_n is in $\mathcal{G}(\mathcal{X}, \mathcal{Y})$.

Definition 3.8. Assume $\mathcal{X} = \mathcal{Z}$, $\mathcal{X} \perp \mathcal{Y}$ and every object in \mathcal{A} has a monic \mathcal{X} -preenvelope. We say that an object N of \mathcal{A} has a $\mathcal{G}(\mathcal{X}, \mathcal{Y})$ -injective dimension less than or equal to n , denoted by $\mathcal{G}(\mathcal{X}, \mathcal{Y})\text{-id}(N) \leq n$, if there exists a $\text{Hom}_{\mathcal{A}}(-, \mathcal{X})$ -exact sequence

$$0 \longrightarrow N \longrightarrow G^0 \longrightarrow \cdots \longrightarrow G^{n-1} \longrightarrow G^n \longrightarrow 0$$

in \mathcal{A} with each G^i in $\mathcal{G}(\mathcal{X}, \mathcal{Y})$. If no such finite sequence exists, define $\mathcal{G}(\mathcal{X}, \mathcal{Y})\text{-id}(N) = \infty$; otherwise, if n is the least such integer, define $\mathcal{G}(\mathcal{X}, \mathcal{Y})\text{-id}(N) = n$.

Proposition 3.9. *Assume that $\mathcal{X} = \mathcal{Z}$, $\mathcal{X} \perp \mathcal{Y}$ and every object in \mathcal{A} has a monic \mathcal{X} -preenvelope. Let N be an object in \mathcal{A} with $\mathcal{G}(\mathcal{X}, \mathcal{Y})\text{-id}(N) = n$. Then there exist $\text{Hom}_{\mathcal{A}}(-, \mathcal{X})$ -exact sequences*

$$\begin{aligned} 0 &\longrightarrow N \longrightarrow G \longrightarrow H \longrightarrow 0, \\ 0 &\longrightarrow G' \longrightarrow H' \longrightarrow N \longrightarrow 0 \end{aligned}$$

with G in $\mathcal{G}(\mathcal{X}, \mathcal{Y})$, $\mathcal{X}\text{-id}(H) \leq n-1$ and G' in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$, $\mathcal{X}\text{-id}(H') \leq n$.

Proposition 3.10. *Assume that $\mathcal{X} = \mathcal{Z}$, $\mathcal{X} \perp \mathcal{Y}$ and every object in \mathcal{A} has a monic \mathcal{X} -preenvelope. Let N be an object in \mathcal{A} with finite $\mathcal{G}(\mathcal{X}, \mathcal{Y})$ -injective dimension. Then the following are equivalent for a nonnegative integer n :*

- (i) $\mathcal{G}(\mathcal{X}, \mathcal{Y})\text{-id}(N) \leq n$;
- (ii) *There is a $\text{Hom}_{\mathcal{A}}(-, \mathcal{X})$ -exact sequence $0 \rightarrow N \rightarrow X^0 \rightarrow \dots \rightarrow X^{n-1} \rightarrow G \rightarrow 0$ with each X^i in \mathcal{X} and G in $\mathcal{G}(\mathcal{X}, \mathcal{Y})$;*
- (iii) *N has a coproper $\mathcal{G}(\mathcal{X}, \mathcal{Y})$ -coresolution of length n ;*
- (iv) *There is a $\text{Hom}_{\mathcal{A}}(-, \mathcal{X})$ -exact sequence $0 \rightarrow N \rightarrow G \rightarrow X^1 \rightarrow \dots \rightarrow X^n \rightarrow 0$ with each X^i in \mathcal{X} and G in $\mathcal{G}(\mathcal{X}, \mathcal{Y})$;*
- (v) *There is a $\text{Hom}_{\mathcal{A}}(-, \mathcal{X})$ -exact sequence $0 \rightarrow N \rightarrow X^0 \rightarrow \dots \rightarrow X^{i-1} \rightarrow G \rightarrow X^{i+1} \rightarrow \dots \rightarrow X^n \rightarrow 0$ with each X^i in \mathcal{X} and G in $\mathcal{G}(\mathcal{X}, \mathcal{Z})$;*
- (vi) $\text{Ext}_{\mathcal{A}}^i(Y, N) = 0$ for all $i > n$ and all $Y \in \mathcal{Y}$;
- (vii) $\text{Ext}_{\mathcal{A}}^i(L, N) = 0$ for all $i > n$ and all $L \in \text{cores } \widehat{\mathcal{Y}}$;
- (viii) $\text{Ext}_{\mathcal{A}}^{n+1}(L, N) = 0$ for all $L \in \text{cores } \widehat{\mathcal{Y}}$;

Furthermore, we have that

$$\begin{aligned} \mathcal{G}(\mathcal{X}, \mathcal{Y})\text{-id}(N) &= \sup\{i \in \mathbb{N} \mid \text{Ext}_{\mathcal{A}}^i(L, N) \neq 0 \text{ for some } L \in \text{cores } \widehat{\mathcal{Y}}\} \\ &= \sup\{i \in \mathbb{N} \mid \text{Ext}_{\mathcal{A}}^i(Y, N) \neq 0 \text{ for some } Y \in \mathcal{Y}\}. \end{aligned}$$

Proposition 3.11. *Assume that $\mathcal{X} = \mathcal{Z}$, $\mathcal{X} \perp \mathcal{Y}$, and every object in \mathcal{A} has a monic \mathcal{X} -preenvelope. Then every object in \mathcal{A} with finite $\mathcal{G}(\mathcal{X}, \mathcal{Y})$ -injective dimension has a special $\mathcal{G}(\mathcal{X}, \mathcal{Y})$ -preenvelope.*

Corollary 3.12. ([9, Proposition 2.17]). *Assume that \mathcal{Y} is a class of R -modules that contains all injective R -modules. Then every R -module with finite \mathcal{Y} -Gorenstein injective dimension has a special \mathcal{Y} -Gorenstein injective preenvelope.*

Acknowledgments. I wish to thank the referee for the very helpful suggestions which have been incorporated herein.

REFERENCES

1. M. Auslander and M. Bridger, *Stable module theory*, Memoirs American Mathematical Society **94**, 1969.
2. D. Bennis and K. Ouarghi, \mathcal{X} -Gorenstein projective modules, Inter. Math. Forum **5** (2010), 487–491.
3. N. Ding and Y. Li and L. Mao, *Strongly Gorenstein flat modules*, J. Aust. Math. Soc. **66** (2009), 323–338.
4. N. Ding and L. Mao, *Gorenstein FP-injective and Gorenstein flat modules*, J. Alg. Appl. **7** (2008), 491–506.
5. E.E. Enochs and O.M.G. Jenda, *Gorenstein injective and projective modules*, Math. Z. **220** (1995), 611–633.
6. E.E. Enochs, O.M.G. Jenda and J.A. López-Ramos, *Covers and envelopes by V -Gorenstein modules*, Comm. Algebra **33** (2005), 4705–4717.
7. H. Holm, *Gorenstein homological dimensions*, J. Pure Appl. Alg. **189** (2004), 167–193.
8. Z. Huang, *Proper resolutions and Gorenstein categories*, J. Alg. **393** (2013), 142–169.
9. F. Meng and Q. Pan, *\mathcal{X} -Gorenstein projective and \mathcal{Y} -Gorenstein projective modules*, Hacettepe J. Math. Stat. **40** (2011), 537–554.
10. S. Sather-Wagstaff, T. Sharif and D. White, *Stability of Gorenstein categories*, J. Lond. Math. Soc. **77** (2008), 481–502.

DEPARTMENT OF MATHEMATICS, NORTHWEST NORMAL UNIVERSITY, LANZHOU, CHINA

Email address: yangxy@nwnu.edu.cn